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BHBEERNRE

THSE EREFEE R X HKIECA R TR(EEFE4E)

% L] B - BIKsTiE BT H B fifl ® 8 ]

BEEISE 105, 798, 261
107,372, 618 1,574, 357

PrikiR (b)) (HR) 105, 798, 261
107,372, 618 1,574, 357

H£RT 51,159, 148
51, 832, 861 673,713

HEBET 51,159, 148
51, 832, 861 673,713

HEEER 51,159, 148
51, 832, 861 673,713

-1 BHEEAD 5~100ke/f8 7KZ10~20msk 2,367.00 7,765 18, 379, 755
m3 2,367.00 1,774 18, 401, 058 21,303

1-11 HBHEAQ) 5~100kg/f8 JKiZF10mK i 1,765. 00 7,852 13, 858, 780
m3 1,765. 00 7,863 13,878,195 19, 415

1-2 #EREHLO) +50cm  JKZFE10mK i 1,662. 00 5,715 9, 498, 330
m?2 1, 662. 00 5,905 9,814,110 315, 780

1-3 #BREHLOQ +50cm  JKIR10~15mFK i 1.184.00 7,098 8, 404, 032
m2 1,184.00 7,334 8,683, 456 279,424

1-4 #BHERHL Q) +50cm  JKiF15~20mF i 117.00 8,703 1,018, 251
m?2 117.00 9,026 1,056, 042 37,791

HWEL 54,639, 113
55, 5639, 757 900, 644

HEAL 54,639, 113
55, 5639, 757 900, 644

HwER 28, 409, 786
28, 439, 207 29, 421

1-5 HERETEA M) 1000ke/f8 /KR 10m~ 20mK 5 1,069. 00 10, 394 11,111,186
m3 1,069. 00 10, 403 11,120, 807 9, 621

1-12 HBREA (2) 1000kg/f@ JKiZE10mkK & 1, 650. 00 10, 484 17, 298, 600
m3 1, 650. 00 10, 496 17, 318, 400 19, 800

wEHL 26, 229, 327
27,100, 550 871,223

1-6 @B L (1) +50cm  JKZE10mK i 2,080. 00 7,491 15, 581, 280
m?2 2,080. 00 1,740 16, 099, 200 517,920

1-7 #&HL 2 +50cm  JKiF10~15mK i 1,142.00 9,314 10, 636, 588
m?2 1,142.00 9,623 10, 989, 466 352, 878




BHBEERNRE

THSE EREFEE R X HKIECA R TR(EEFE4E)

£ 5 g - BAKTE Bify 2 i % i
1-8 wBEHL Q) +50cm K15~ 20mFK i 1.00 11, 459 11, 459
m2 1.00 11, 884 11, 884 425
HEREE FEL) 5, 685, 544
6,179,137 493, 593
HB R 5,685, 544
6,179,137 493, 593
HEBEREE 5,685, 544
6,179,137 493, 593
e E 5,549,144
5,736, 737 187, 593
TEXER 5,549,144
5,736, 737 187, 593
1-9 REERK 1.00 5,549, 144 5,549, 144
= 1.00 5,736, 737 5,736, 737 187, 593
BirEEE
136, 400
BRirEE
136, 400
1-10 B EEE
= 1.00 136, 400 136, 400
REREREE 0
306, 000 306, 000
REREREE 0
306, 000 306, 000
13 @A L 0.00 0 0
= 1.00 306, 000 306, 000 306, 000
BiZAEE
1,648, 622
BIEEHE
1,648, 622
TILFE—LBIE
1,648, 622
TILFE—LBIE
1,607, 622
B2 EEH
447,370




BHBEERNRE

THSE EREFEE R X HKIECA R TR(EEFE4E)

£ g g - BAKTE Bify = B % i
2-1 AlE¥fH
= 1.00 322,998 322,998
2-2 HEALENR ISR, 2FELY
= 1.00 124,372 124,372
KFHE
616, 644
2-3 BETRAK I H SR
= 1.00 612, 057 612, 057
2-4 T ILFE—LBIE EIAER
km2 0.01 458, 707 4,587
BE
543, 608
2-5 FERT—4 BE EIAER
= 1.00 543, 608 543, 608
EEREE
41,000
BE
41,000
2-6 XFERER
= 1.00 41,000 41,000
B[R
232,906
BIEEH
232,906
TILF E—LAIRE
232,906
EEAGE
230, 600
BE
230, 600
3-1 ERFTEET—RER
i 1.00 230, 600 230, 600
EEREE
2,306
EHAME
2,306




BHBEERNRE

THSE EREFEE R X HKIECA R TR(EEFE4E)
% R R - RARSTiE BfL g fif i) m =
-2 EBEARE
2t 1.00 2,306 2,306
LB REE TR ZESH




BHEERER

THSE EREFEE R X HKIECA R TR(EEFE4E)

4 [ R - BRTiE By B = il % i
BEEIEE 105, 798, 261
107, 372, 618 1,574, 357
MEIEE 12,953,884 + 27,253,617 40, 207, 501
13,695,104 + 28,596, 195 42,291, 299 2,083,798
HBREE GDH 5,685,544 + 6,612,391 + 655,949 12,953, 884
6,179,137 + 6,848,360 + 667,607 13, 695, 104 741,220
HEREE (BL) 5, 685, 544
6,179, 137 493,593
HBREE (R) 105,798,261 x 6.25% (4.75% x1.00 +1.50%) 6,612, 391
107,678,618 x 6.36% ((4.74% x1.00 4+1.50%) x 1.02) 6, 848, 360 235, 969
ReRnyEs 105, 798, 261 x 0.62% 655, 949
107,678, 618 x 0.62% 667, 607 11, 658
Regng 118,752,145 x 22.95% (21.67% +1.28%) 27,253, 617
121,067,722 x 23.62% ((21.65% +1.28%) x 1.03) 28,596, 195 1,342,578
TER 105, 798, 261 + 40, 207, 501 146, 005, 762
107,372,618 + 42,291, 299 149, 663, 917 3,658, 155
—REBEES 146,005,762 x 16.28% (16.28% x 1.00) — 2, 709 23,767, 029
149,663,917 x 16.23% (16.23% x 1.00) — 1,579 24,288, 874 521, 845
LRI E
118,022,502 x 0. 04% 47,209
e ik 146,005, 762 + 23,767,029 + 47,209 169, 820, 000
149, 663,917 + 24,288,874 + 47,209 174, 000, 000 4,180, 000
BEiZHEE
1,648, 622
1,648,622 x 80.2% — 816 1,321,378
AEELE
1,648,622 + 1,321,378 2,970, 000
B2 E B
2,970, 000
BRI
230,600 + 2, 306 232, 906
BEEAGE
230, 600
EEREE

. 306




BHEERER

THSE EREFEE R X HKIECA R TR(EEFE4E)

% L FRIE - BKTiE B o = i & B S
ZOHEE
230,600 x 53.85% ( 35% = (1 — 35% ) ) 124,178
XFERAM
232,906 + 124,178 357,084
—REEESE
357,084 x 53.85% (35% + (1 — 35%) ) — 9,373 182,916
EFEmE
357,084 + 182,916 540, 000
EEHEE 169, 820,000 + 2,970,000 + 540, 000 173, 330, 000
174,000,000 + 2,970,000 + 540,000 177,510, 000 4,180, 000
HEBREHELE 173,330,000 x 10.00% 17,333, 000
177,510,000 x 10.00% 17,751, 000 418, 000
EATEE 190, 663, 000
195, 261, 000 4,598, 000

R FEE TR LZEEH
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=

Rifiz -/ \v7r—o

2 1-1

THF ERREER B R)P KRS R TR (K EF4E)

B BE’RAA0) 5~100kg/fE 7KiZE10~20m=k i 1000m3 &Y
£ L] B - T By H =2 B ) i) " %
BR 5~100kg/{&
m3 1, 300. 00 5, 750. 00 1,475, 000
KT D 270PSE! 3~5t/A
=] 1.44 180, 986. 00 260, 619 8H
AR ESzYOV!
% 0.50 7,735,619.00 38,678
& B {E%8EH : 1,000.00m 3 7,774.00 1,714,297
g 1-11
2 EERAQ) 5~100kg/f@ JKFE10mEKH 1000m 334 Y
£ L] B - T By H =2 B ) i) " %
BR 5~100kg/{&
m3 1, 300. 00 5, 750. 00 1,475, 000
KT D 270PSE! 3~5t/A
=] 1.93 180, 986. 00 349, 302 8H
AR ESzYOV!
% 0.50 7,824, 302. 00 39,121
& B {E%8EH : 1,000.00m 3 7, 863. 00 71,863, 423
&5 :1-2
B BAEHIL () £50em  KFE10mkKH 1THHY (30.8m2)
£ L] B - BT By H =2 B ) i) " %
KT D 270PSE! 3~5t/A
=] 1.00 180, 986. 00 180, 986 8H
AR ESzYOV!
% 0.50 180, 986. 00 904
& B {E%8EH : 30.80m 2 5,905. 00 181, 890




Rifiz -/ \v7r—o

&5 :1-3

£ BAERHL () =50cm  JKFE10~15mK i

THF ERREER B R)P KRS R TR (K EF4E)

1HEY (24.8m2)

£ L] R - BTk By H =2 B & % i) " %
KT D 270PSE! 3~5t/A
=] 1.00 180, 986. 00 180, 986 8H
AR 2R 0%
% 0.50 180, 986. 00 904
& i 1EZBERN : 24.80m 2 7,334.00 181, 890
&S :1-4
L BERBL B £50cm  KiZFE15~20mEKiH 1TH&Y (26.2m2)
£ L] R - BkTik By H =2 B & % i) " %
BT QABKAR (REH)) D 270PSE! 3~5tf
=] 1.00 235, 317.00 235, 317 8H
AR 2R 0%
% 0.50 235, 317.00 1,176
& i {EZBESN : 26.20m 2 9, 026. 00 236, 493
5 :1-5
L HBERBAN) 1000kg/E  IKZE10m~20msk i 1000m 334 Y
£ L] R - BkTik By H =2 B & % i) " %
HWER 1000kg/ 1@
m3 1,300. 00 7, 750. 00 10, 075, 000
KT D 270PSE! 3~5t/A
=] 1.53 180, 986. 00 276, 908 8H
AR ESzYOV!
% 0.50 10, 351, 908. 00 51,759
& i {E%8EH : 1,000.00m 3 10, 403. 00 10, 403, 667




Rifiz -/ \v7r—o

THF ERREER B R)P KRS R TR (K EF4E)

&5 :1-12
2 HEBERBKRA(Q) 1000kg/E KFE10mEKH 1000m 334 Y
£ L] R - BTk By H =2 B € & i) " %
HWER 1000kg/ 1@
m3 1,300. 00 7, 750. 00 10, 075, 000
KT D 270PSE! 3~5t/A
=] 2.04 180, 986. 00 369, 211 8H
AR 2R 0%
% 0.50 10, 444, 211.00 52, 221
& i {E%8EH : 1,000.00m 3 10, 496. 00 10, 496, 432
&= :1-6
&% HEHLA)  £50cm  KE10mFKH 1TH%Y (23.5m2)
£ L] R - BkTik By H =2 B € B i) " %
KT D 270PSE! 3~5t/A
=] 1.00 180, 986. 00 180, 986 8H
AR 2R 0%
% 0.50 180, 986. 00 904
& i {EZBERN : 23.50m 2 7,740.00 181, 890
&5 1-1
L HEBEHL (2 £50cm  JKFE10~15mKiE 1B&Y (18.9m2)
£ L] R - BkTik By H =2 B € B i) " %
KT D 270PSE! 3~5t/A
=] 1.00 180, 986. 00 180, 986 8H
AR 2R 0%
% 0.50 180, 986. 00 904
& i {EZBES : 18.90m 2 9, 623.00 181, 890




Rifiz -/ \v7r—o

&= :1-8

L% WEML Q) +50cm  JKFE15~20m*KiH

THF ERREER B R)P KRS R TR (K EF4E)

1HEY (19.9m2)

2 b g - BIRTE By = B O %8 W = " =
BKEMQABKAX (RE)) D 270PSE! 3~5tH
B 1.00 235, 317.00 235,317 8H
MR 2E0%
% 0.50 235, 317.00 1,176
& B YEZERESN 1 19.90m 2 11, 884. 00 236, 493
&5 :1-9
£ REEEM 1LY
2 b g - BIRTE By = B O %8 W E " =
ZEEEMm FRP D 180PS#Y
B 61.00 93,577.00 5,708,197/6.00H / 8H
MR EXENOY
% 0.50 5,708, 197.00 28, 540
& B 1E%HeH - 1.00K 5,736, 737. 00 5,736, 137
&5 :1-13
& BB~ L 1LY
2 b g - BIRTE By = B O %8 W E " =
R kAL
A 6. 00 51, 000. 00 306, 000
& Hi 1E%HeH - 1.00K 306, 000. 00 306, 000




B ffi & T AI3E E R EER X RIZEAL(ER) TE(EEF4E)
BE&RES : 1-1
k& BKth D 270PSE 3~5tf 1B%Y 8
£ [} B - T Bifiy = B £ & " %
Bl R
L 129. 00 120. 90 15, 596
BKIH SRR
A 0.24 41, 160. 00 9,878 B=1.20
Bkt
A 1.20 41, 160. 00 49,392 8=1.20
BKERE
A 1.20 25, 940. 00 31,128 B=1.20
BKERE
A 1.20 26, 360. 00 31,632 3=1.20
B GBKLH) D 270PSE 3~5tf
H 1.00 13, 000. 00 13, 000 eI =]
B GBKLH) D 270PSE 3~5tf
H 1.65 18, 400. 00 30,360 a=1.65 #AR
& &t 180, 986
BERES : 1-2
BfikaH BRI QABKAX(RZRE)) D 270PSE 3~5tfH 1HHY 8H
£ [} B - T Bifiy = B £ & " %
Bl R
L 129. 00 120. 90 15, 596
BKIH SRR
A 0.24 41, 160. 00 9,878 B=1.20
Bkt
A 2.52 41, 160. 00 103,723 8=1.20
BKERE
A 1.20 25, 940. 00 31,128 B=1.20
BKERE
A 1.20 26, 360. 00 31,632 3=1.20
B GBKLH) D 270PSE 3~5tf
=] 1.00 13, 000. 00 13, 000 eI =]
B GBKLH) D 270PSE 3~5tf
=] 1.65 18, 400. 00 30,360 a=1.65 #AR
& &t 235, 317




Bl THF ERREER B R)P KRS R TR (K EF4E)

HifiRkES : 1-3
BfiRBH - T2EEM FRP D 180PSH 1H%Y 6.00H / 8H
% 5 BB - KT BfL BB B ® # mE w %
FihA
L 37.00 103. 00 3, 811
SR A
A 1.20 30, 240. 00 36,288 8=1.20
LTEMmE
A 1.20 23,210.00 27,852 8=1.20
B (@M FRPE]) D 180PSZY 10.0GT
=] 1.00 9, 390. 00 9,390 E#rH
B (@M FRPE]) D 180PSZY 10.0GT
=] 1.65 9, 840. 00 16,236 a=1. 65 #AHE
a &t 93,5717




